P1

SMON SP2 KIT

SUPER MULTI DN METER
- Instruction manual

05-05-0811

DN

-3 POWER TEST
-4 ADJ

Produced by SPECIAL PARTS 0= YA

SPECIAL PARTS TAKEGAWA SUPER MULTI DN METER KIT MANUAL 20140307

1 | | 1 | 1 |



TAKEGAWA

o]
\o J
584-0069 3-5-16
» ’l [TEL] 0721-25-1357( ) [FAX] 0721-24-5059
w1t SPECIAL PARTS [ 10721-25-8857

[URL] www.takegawa.co.jp



OFF

OFF

H..D.




40mm

A
Y

81mm

By

090-00-0049

RPM B 550mm <

Il==e=:= 3, [o
090-00-0063
¢ 12X50
090-00-0057 3
” N 6 |
= 4
%L ] | D)@ 3mm
07-04-0551
iz ) . R
Ii }l
== I e
07-04-055
30T R
2 e |
I«

07-04-0522 1 =

4




6 L 1.5mm
[

00-00-0480 6

JIs 05-06-0012

JIS
300mm -

A
N
A
!
I

i i
i M4 ; VER
M4X16 2 12 ‘2
1 1 ¢ )
i © i
1 1 ED
i 2 i
........................... L_..!.._._._._._._._._._._._.L._._.'_._._._._._._._._._._
! 90 !
i i M6  6X16X1.6
1 = 1
fe) i @@o i
o0 O) of |
& i i
00-05-0087 . 00-05-0088 .
] ! I ——
.............................. L it L
2




090-00-0051
6 .5X10X10

M6X40 2

e o o e o

H1

M8X45 2




SET

H1

3mm

g M4X8

@ M4  4X14X1

8 .5X12X125

] we

i
” M6 6 .5X10X10

M6X40 2




&=
M4 ®90°
[ S — \ WMe

[l
e

—_

90 1~ A ~N

Jis

@ 27mm 09-03-0904




EN 1
ON OFF (o1
e3Iw02] [(EES——e o
\ON J

&3wo3] [(EZ8S

LED LED

—eh J[04] / wEES

@

o
)
b

WARNING A &7 EJEESD
I WARNING A/ B

&

o
{
7

W=c.: =

&

©
?

g
@
@

LED

510Q 100Q

éﬁ [12]

[13] 7

éﬁ (241 /
[1s] 7

[16]
_%i a7 / s
(18] s




P10

AC

No. No. | Color Function
[01] DC12Vv [01] | Red Battery (DC12V)
[02] ON DC12V DCOV 20V | [07]|Black lgnition-SW on (DC12V)
[03] GND [03] | Green Main GND
[0o4]| / LED / [04] | Green/White | Green LED Indicator (-)
[05] WARNING A / [05] | Purple WARNING A Indicator (+/-)
[06] WARNING B / [06] | Gray WARNING B Indicator (+/-)
[o71{ 7/ bC5V 20V [071 | Yellow/White | Blue LED Indicator (+)
[08] [08] { Orange L turn Indicator (+)
[09] [09] | Blue R turn Indicator (+)
[10]| / [10] | Yellow/Black | Fuel Sensor Input (Q)
[11] RPM [11]{ Brown RPM Signal Input (Pulse)
[12]| 7/ A [12] | Yellow/White | Thermo Sensor A (Q)
[13] A GND [13] | Green Thermo Sensor B (Q)
[14] B [14]| Yellow Thermo Sensor (Q)
[15] B GND [15] | Green Thermo Sensor (GND)
[16] GND [16] | Green Speed Sensor (GND)
[171{ 7/ 5v [17] Red/White | Speed Sensor (5V Output)
[a8]| 7/ [18] | Brown/White | Speed Sensor (Pulse)
[ ]
] DC12V
DC9V 20V
L]
[ OFF ]OFF 07 A
[ ON ] 40mA 180mA
. LED
DC5Vv 20V
. ¢35
mA mA
125V 12 53
ON| 32 55
OFF 0.7mA 135 -0|+0
38mA 4 -1| 53
180mA 10 -2 12
80 0.5x 2 -3 21
38mA 4 -4] 34
LED 6.2 -5 54
WARNING A/B 8.5x 2
o AC
DC12V AC
AC
ACOV \4




DC12v

OFF

ON

[01]

ON ON ON
HONDA / SUZUKI /
YAMAHA KAWASAKI /
[ ]
DC9V 20V
[ OFF ] OFF 0.7 A
ON 40mA 180mA
[
[DC ]
ON
ON 125 13V 145V
AC




. LED
DC5V 20V AC9V 30V

@

=SB0 o4 / TEBS = @ M

, N '
/

HONDA / SUZUKI /
Iy — - — NN~ | _ — _ — - — - S YAMAHA KAWASAKI -
+12V XF—-+
I » [0a] / —c:n—@—h.
— 4By
WARNING A/B / ﬁ@qﬂ@k@_
WARNING A WARNING B A —4 &/
WARNING A/B A/B
1
YAMAHA 2 YAMAHA
<
=—E=gEID[os] [ =85
=——E@=m[o6]

[06]

HONDA / SUZUKI /
Fi.F YAMAHA / KAWASAKI| 7




N E— L2V
O—E—L+2V I

AC

2
<
==[08]
L
==
| g
) | —+12v
==[09]
HONDA SUZUKI
YAMAHA KAWASAKI




P14

HONDA 510Q YAMAHA / SUZUKI

100Q 2

[

=

510Q
/
F —
'
'
W
"I—
'
'
I
£ w—
HONDA HONDA 100Q
[10] /7 —D3
X3
/
F 25 45Q
5100 E 400 700Q
YAMAHA
[10] /7 —D3
F 10Q
100Q E 100Q
SUZUKI

F 10Q

100Q E 100Q

100Q
100Q 510Q
10 10Q 51Q
9 11 18Q 52 93Q
8 19 26Q 94 138Q
7 27 35Q 139 186Q
6 36 44Q 187 226Q
E 5 45 52Q 227 273Q
4 53 59Q 274 316Q
3 60 70Q 317 362Q
2 71 77Q 363 402Q
1 78 86Q 403 454Q
(0] 87 455
X




-5 RPM

RPM 3
RPM RPM
[RPM 1 [RPM ]
RPM
2 3
RPM
A B c RPM 3
A B 1 c
c o A . B
C A
A -~ B

:@]]][11]

RPM IG
RPM
RPM

20mm

20mm 30mm




-5 RPM

RPM
RPM
« A RPM
RPM A
20 50 A
(A [ rPm
U
© 12X50
B RPM B
1
2
B A c
1
2
2 pc12v
Fi Fi V125GK9

RPM IG 2 ADJ
RPM 1 05

RPM Hi Lo




-5 RPM

RPM

CDI

hRPM 9
12v Fi
12v CDl A (A /) IG -1 - Hi
12v cDl B (/ IG - 1 - Hi
50/100 CDil c (7 PC-1-Lo
XR50/100M cDl
Fi A
50F! B (/ IG - 0.5 - Hi
50 D c (7 PC-9-Lo
KSR110 CDI c (/7 PC-1-Lo
X FI B ( ) IG - 0.5 - Hi




O 120 -4 ADJ

/ B

A B
WARNING A/B ADJ W L.
N N

12 T |
;ﬁﬁ{l?j J == nemm e m— | =S Y — —

900mm

Eﬁﬁ”“] / %[:n:u::@%ﬂ:ﬂ:ﬁ@]
[15] / PT1/8

[----C]

M3X5 1.5mm
[

%S?
T R S E—

\_ [- - - -C] [120.0C] J




MEMO
o 93 07-04-0551
e PT1/8 PT1/8 07-04-055
M5 M5 07-04-0552
Al M12P15 07-04-054
]
A2 M36P15 o 07-04-0541
A3 M12P15 o 07-04-0542
A4 M14P15 o 07-04-0543
A5 M18P15 o 07-04-0544
M12 Al A3 07-040-0001
M14 A4 07-040-0002
M18 A5 07-040-0004
® 8mm o 07-04-0521
014 e PT1/8 07-04-14
016 e PT1/8 07-04-16
¢ 18 e PT1/8 07-04-18
¢ 22 e PT1/8 07-04-22
0 26 * PT1/8 04-04-26
900mm 900mm 07-04-0522
-7
Jis 4200rpm 180km/h f\
180km/h y R

360km/h N S
ADJ &/

Jis

Jis

24mm




. 714mm 6
ADJ
Jis 1400rpm 60km/h

714mm 6

714mm 6
L]

(G

)1220mm
3.
ne

A B C

- X
)8T )14T )1220mm ) 697mm
2
L)

"

A B

+ x (14

)1220mm )1250mm ) 697mm




WARNING A

LED

LED
DN LED

WARNING B \ \sz|zr\S0%) \\\ O RNV Yy ~ —
[ LCD]
A
° S B
LCD
- A B- [ LCD]
A B
A
ADJ B
. A
LCD S A 3
- A- ADJ
ADJ
360km/h
JIs 4200rpm 180km/h
LED 30 360km/h
99999km 1km
A/B 999.9km 100m S
[ 1 300 2500mm 1 60
714mm-6 42 350
DN 15000rpm
LED 4000 19900rpm
LED -500 -3000rpm
RPM RPM
1 0.5 1 24
3WAY RPM 3 RPM A B C
2 O 120 -6
WARNING 50 120
10 100/510Q
LED
WARNING A/B /
LED




10

LCD "r "

15 28-15 30
15 32-15 30

A/B

ADJ




-3 POWER TEST
4 A

) — S

1 = POWER TEST

POWER TEST |

S
S
' [N RN NN 0 95km/h
S—
' ' ' 5 360km/h

0 95km/h 5 360km/h
5km/h 5km/h




TI
0
LLJ
TI
o
|
3
o
o
e

o 5
2 § 8
()] (@]
()] -
()]
(@]
(@] —
< o
||
L™y ;
£ "=
[
[
U

10 10000m

10

0O 9990m

10

s &
S
=
)
EIJE
hu I ﬁu_

POWER TEST

ON/OFF




-3 POWER TEST
1.

o

X
3
N
S

" us,,
Eﬁ- 1 s
s LX)
20km/h
110km/h
)

10km/h

— _ PICK UP
\,«..L"é‘
ohoB3 3466 Tugp, 50! 03466 =
[y ne s s [ A | mi 1=
A |00 A, |0 WA, (070, 11,
ooo= 936*= 136" 78" 936«
10km

3



ADJ

ADJ

0O 23H
0O 59M

LED
4000 19900rpm

100rpm

2-2

LED
-500 3000rpm

100rpm
LED

2-3 RPM

"2-4 RPM




-4 ADJ

2-4 RPM
1
IG 05 1 6
PC 1 24
. PC
. IG
0.5
V125 FI Fl
1 1
2 1 1
2 2
°
4 4
3 -~ 2 5 1 - 05

300 2500mm
1mm
714mm 0714

JIS 714mm

6 o6P




-4 ADJ

v

ﬁ'-THERMO 4-1 A
Ly LED 72N\
[ | 50 120 WARNING
1 -
ddu
s
@ 4-2 B
LED 78\
50 120 WARNING
1 -
WARNING A/B
A/B
et R R,
IGEUNIT 5-1
—
[ ]
[ ] 05
—— 5
ddui
s
0" "0 5" 55mA
5-2
510Q 100Q
ADJ I
5-3
00000 99999km
1km

LCD 750km



